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QUESTION 1

How does QualityStage output the correct ISO code for a record?
A. 1SO code functionality is not available.

B. ISO code supplied by the Country rule set.

C. ISO code supplied by the USPREP rule set.

D. ISO code supplied by the US Address rule set.

Correct Answer: C

QUESTION 2

What rule file parses data to the output file?
A. PAT

B. CLS

C.DCT

D. PRS

Correct Answer: D

QUESTION 3

A match review was just completed and determined that individuals with different middle names are being
grouped together.

Which option would be effective in breaking these two individuals apart?

A. Decrease the value of the m-prob for the middle name

B. Set the override file A missing weight for middle name.

C. Set the override disagreement weight for middle name.

D. Set the override disagreement weight for primary name.

Correct Answer: C

QUESTION 4

You added a new field to matching fields of an existing match specification and provisioned all match specification
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components. Then you ran the job but it failed immediately. The input data size is 2G bytes and the job worked without
any issues before you modified.

What is most likely the cause of the problem?
A. Lack of physical memory.

B. Lack of scratch disk space.

C. The job needs to be re-compiled.

D. The frequency file needs to be re-generated.

Correct Answer: A

QUESTION 5

If a One-source match identifies four match groups with each match group having three duplicates, how many
survivorship output records will there be if you used the match group as the group identification column?

A.3
B.4
C.6
D. 12

Correct Answer: B
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